Cumulative time (s.)

10°

104

103

102

10t

100

107!

1072

virtual best
— = OptiM.(eager+ofpbs+pi)
OptiM.(eager+ofpbs+pi+so)
OptiM.(eager+ofpbs)
OptiM.(eager+ofpbs+so)

— = OptiM.(eager+omt+bin+pi)
OptiM.(eager+omt+bin)
OptiM.(obvbs) [reduction]

- OptiM.(eager+ofpbs+bp+pi+so)
— = OptiM.(eager+omt+lin)

—— OptiM.(eager+omt+lin+pi)

----- OptiM.(eager+ofpbs+bp+pi)
OptiM.(eager+ofpbs+bp+so)
OptiM.(eager+omt+bin+bp+pi)
OptiM.(eager+ofpbs+bp)
OptiM.(eager+omt+bin+bp)
OptiM.(eager+omt+lin+bp)
— - OptiM.(lazy+omt+bin)
—— OptiM.(eager+omt+lin+bp+pi)
OptiM.(lazy+omt+lin)
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